= % 12 o] Hizpol A “SA o] 15 9] Hlj47} 5]

L AL9
— Tl

O 20 @ 30 @ 40 @®)60

12 9} 15 ©] ZA£FH4e 60 o] W42 Fom et




it

02
il m

0x
1L

vV v Vv v VvVvvyvVvyvVvVvyy
0 0
o o

@ W © © O

0
iU

&8

@53 =5x5x5=125

© 39

©2°=2x2x2%x2x%x2=232
®22x33=2x2x3x3%x3=108
@32xT=3%x3%x7=63

metA 22 EE 22 UdstH ©, O, ®, @, @°lth




® 23,3,5

2) 60
2) 30
3) 15

5

60 =22x3x5

urebA 60 o] 204E 2, 3, 50t




@1 @ 2 ® 3 @6 ® 9

nSoANA 7 & $E187) 24 9




T AAF 20 x3x 5%, 2x52 9] Fokprt EH £ gleE AS F
TE2A2(HE 37H)

@2 @ 2x5 ® 5

@22><5 (6)24><3><52

o FekrE 2 x520]1, FoFrE U FoFr9] efgrolBnR
1,2,5,2 x 5,52,2 x 52 0|},




